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QUESTION 1

There has been a re-organization requiring all the employees of Department A to be moved to Department
B. Which option will enable this activity to be addressed in a single request?

A. Run the Refresh Manager Hierarchy process.

B. Run the Synchronize Person Records process.

C. Run the Mass Update process.

D. Run the Send Pending LDAP Requests process.

Correct Answer: C

QUESTION 2

When an HR specialist searches for Awards and Honors, such as "PhD", the Person Gallery page displays only the
direct reports of the HR specialist who comply with the honor. When the HR specialist searches for areas of expertise,
such as "Oracle Global Human Resources Cloud", it displays all the employees of the organization who has Oracle
Global Human Resources Cloud as their areas of expertise.

Identify the reason for this behavior.

A. HR does not have access to other departments where employees are "PhD".

B. HR has access to Oracle Global Human Resources Cloud department.

C. PhD is a sensitive keyword and is used elsewhere in the person\\'s information.

D. Areas of expertise is public information.

E. HR does not have access to the "Experience and Qualification" card.

Correct Answer: D

QUESTION 3

For the Change Manager transaction, the first-level approval is set to the Application Role type. The name of the
application role is HR Specialist Sales. In the Change Manager approval rule configuration, the Enable Auto Claim
option is deselected.

Which two actions take place when the transaction for manager change is initiated for employees? (Choose two.)
A. The transaction goes into error because it was no auto-claimed.

B. The transaction has to be approved by all HR Specialist Sales representatives for it to be approved.

C. The transaction goes for approval to all the workers who inherit the HR Specialist Sales role.
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D. One of the HR Specialist Sales representatives should "Claim" the transaction for it to be assigned for approval.
E. If one of the HR Specialist Sales representatives rejects the transaction, others can still approve it.
F. The transaction will be auto-claimed and assigned randomly to anyone who has the HR Specialist Sales role.

Correct Answer: CD

QUESTION 4

During implementation, a two-tier employment model has been set up. Now the client wants to store employment terms
and contract details for its employees. Which statement is true about moving from two-tier to a three-tier model?

A. The client can have both: a two-tier employment model can remain for its existing employees, and a three-tier
employment model can be created to hire new employees within the same legal employer.

B. The client cannot move from a two-tier to a three-tier employment model after the model has been implemented.

C. The client can move from a two-tier to a three-tier employment model at any point of time, irrespective of the
existence of work relationships.

D. If no work relationships exist in the enterprise or legal employer, then the client can switch from a two-tier to a three-
tier employment model.

Correct Answer: D

QUESTION 5

An ex-employee of your organization, who was employed at the USA office, has resigned her job 2 years ago. She will
start her employment at France office next month.

Which statement is correct about the Person Number and Assignment Number for this employee?
A. The employee\\'s new person number will be her previous number suffixed by -1.

B. The employee continues with her old person number if global sequence is used for person number, and same
assignment number with the France Legal Employer.

C. The employee gets a new person number and assignment number for her employment in France if the legal
employer sequence is used for person number.

D. The employee has a person record with the enterprise so she will continue with the same person number but get a
new assignment number within her new work relationship with the France Legal Employer.

Correct Answer: B
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